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o 126,326
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Jl 59,300
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2,000,000 *1CH 2,000
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4302 *1,0307H 2-+32] 1,329
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M EXNZEE
celr 2S48 2A EE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 8,040 6.240 1,800
01 2LHoIH 8,040 6,240 1,800
OEXEE 2Ex(5Y)
130,000 x4 * 122 6,240
OE2Y L HESAIXIIL ZAF 21X
20,0003 x2& 45 1,800
IHE S AIXIOt 91,807 87,204 4,603
= 42,482
= 49,325
101 @124H| 6.611 14,524 AT7,913
= 6,611
04 JIZtN2Z2XNS 2+ 6.611 14,524 AT7,913
OMESAIXIL X012
122,420« 18 +54L 6.611
= 6,611
201 fer=3| 85,196 72,680 12,516
= 35,871
o 49,325
01 At22t2lt] 85,196 72,680 12,516
OMESAIRDIL BEX=42
7903 %107,8432 X 85,196
= 35,871
= 49,325
SUHEEAMY 6,086 165,000 158,914
201 er2 3| 1,875 0 1,875
01 AtR2t2|HI 1,275 0 1,275
ONYSIRE BA g
70,0002 x6H*13] 420
O32UEE 2ot Ns 855
—ZA==g 255,000& %12 255
—wWFHA M2 10,0002 *60= 600
02 S3=gHl 600 0 600
ORCHIEEX 282 600,000 *1CH 600
405 KHaHE SH 4,211 0 4,211
01 Tt ESF=HI 4,211 0 4,211
OBAWEEAHS 20108 TX 7Y
4,211,000 =104 4,211
SSAtA 2,000 1,200 800
201 er2&| 2,000 1,200 800
2 s5=34l 2,000 1,200 800
OFRS4ady 2Lt a3 & Al £
% @7 X8 2H7Y
2,000,000& %14 2,000
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< 43,100
s 274,176
SHFAALY 317,276 304,385 12,891
= 43,100
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70,0003 *12Z 12 840
OBBEANE C8 BN 72
1,040,000 *14] 1,040
OFa2ZE CtUHAIZE S ZA 41,000
- 16,000,000 * 14 16,000
—JIZHSE, ASFaT
5,000,000 *14 5,000
—dASBSH 20,000,000 * 14! 20,000
2 35244l 1,320 1,080 240
O=AZEAE 8ETAE S| SHRs
60,00021* 122 720
OEEY=A XS SII9E
600,000 %14 600
308 AHXIHMSO0IA 22,149 27,712 A5,563
13 S [2S0He 4 A AS A 22,149 27,712 25,563
OFAFRIIZE 2X2e
22,149,000 * 14| 22,149
401 Al HIZ 2018 195,000 194,917 83
= 43,100
[Ea 151,900
01 AlZH| 195,000 194,917 83
OFA8E U= &8 & FA2CIA
o 130,000
—EEAY 71,4282 %1,40000 2 100,000
[ 20,000
Ea 80,000
—RAl2elA 25,0002 *1,20000 2 30,000
= 6,000
o 24,000
OME O8NS =X EHSE MAER
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OMAHEXS I EHSE FA2e
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SA: BIRIEALD
HE: KN
cel: NEAE L OIAAHIASA (SH &)
S HE - S(BIH) - HIRAY - BAS ofl b0 G o HDS2
OZIPIEE B ZA
235, 0002+ 166% 39,010
ONEBESN MAS DEAY ELHAL
2 1,000, 0002 14! 1,000
OXEIIESN BAE HIZ
0, 5002 x4, 000% 10,000
ONEXHE FHIA
160,000,000 % 14! 160,000
= 80,000
= 32,000
= 48,000
202 01t 6,240 8,800 22,560
01 2Uoib| 6,240 8,800 22,560
OXHHME DX (ZH)
130, 00081 *42x 128 6,240
207 AP 71,000 71,000
02 &AL 71,000 71,000
OXIBAIESAIAE & ALY
71,000,0008 %14 71,000
403 XEXISHIS XH=0| 143,8% 138,550 5,284
02 20| 2SO0l CHBHRHE = 9 EF AL 143,834 138,550 5,284
O=ZIEH HBIA L W 143,834
—HEEANKIEI|EE)
11,5002146, 509 75,084
—HE(NRE2E) 137, 5002 %500 68,750
K= THEAFAFES 984, 188 984,658 470
= 052,253
= 731,935
KIETHEALALY Z=&I(XHA) 677,935 683,659 N5,724
201 LBr2 2| 71,335 75,019 13,684
01 A2 65,031 68,715 13,684
OXIETHEAL PD2ET S2H|(ZH)
8, 0002 x4 +02 » 122 3,456
OZLFTI +42 (WS SH, Mot 243,
23 2322) 46,2009 1,438 X| #40% 26,575
OAPAHE RIETHEAF AL R SZ422(
IEE=Y URBHEZH =)
5,000, 0002 14! 5,000
ONETEAAMY SRR HENEN, B
XA FHI(MSSE, ROHRAS, 2222)
30,000,000 % 14! 30,000
® 22| 6,304 6,304 0
OXIETEAL D DHIUAAL 29 U =
g B 6,304,0002 14! 6,304
202 01| 6,600 8,640 2,040
01 2Uoib| 6,600 8,640 22,040




SH: PRZAD
B (HHE
el NIETHZARAE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXEMEAL HRFX(SH)
9R,5002 x4~ 12 4,440
OXIETHEAL BIFXCI(FHE)
2,160,000 2,160
301 22N = 600,000 600,000
14 JIEt2 8= 600,000 600,000
OXHTHEAAIY £2F 3 XS(H2 SE
Zok BAB, 27 232)
600,000,000& *14] 600,000
KETHEALALY =& 252,253 300,99 A48, 746
= 252,253
201 et 3| 14,900 35,625 N20,725
= 14,900
01 AFR2t2ltl 14,900 35,625 N20,725
OXEMEAIALE JIEE 2=H]
2,888,000& %14 2,888
= 2,888
OXIETHZAALY 22|
12,012,000 * 14 12,012
= 12,012
308 AXIHSOIA 237,353 0 237,353
= 237,353
13 SI12S0He 4 A AS A 237,353 0 237,353
OXHHZAIAE S ++=
237,353,000& x14] 237,353
= 237,353
HIAISKIA ga =8 54,000 54,000
308 AHXIHMS0IA 54,000 54,000
13 S [2S0tHet 4 A AS A 54,000 54,000
OHMASIIAH HEHEH(IHEHESSER X
) 54,000,000 * 14| 54,000
FHEENH 5,173,566 3,224,232 1,949,334
= 1,015,7%6
= 254,859
Ea 3,902,911
=elsiot 28,520 171,020 142,500
2% 25t ge=d 28,520 171,020 142,500
201 fet= 3| 15,320 27,220 211,900
01 AtR2t2lHl 15,320 27,220 A11,900
O2= RFT SH|(EH)
8,0002+68+0ed« 123 4,320
OA=RARE B4 =&
100,000& x22E 32l 6,600
O AT (AFI5It 2ted)
100,000 82 800
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M F=HSEMH
el A=I5t (CH9: &S1)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
OY2Ud++2(ABS
120,000& *30A 3,600
202 (4t 13,200 13,800 A600
01 =LHO4 b 13,200 13,800 AB00
OUs Z2FT(EY)
130,000& x5 » 123 7,800
OfIBtA=2 RIAUE 5,400,000& 5,400
MBI erE 5,145,046 3,053,212 2,091,834
= 1,015,796
= 254,859
= 3,874,391
iS22 ASE A 849,024 535,818 313,206
401 AIEHIZL 28I 549,024 445,818 103,206
01 Al&HI 545,864 443,004 102,860
Olts3l2 2= 501,600
—Z&Iot AOtS 20,000,000 *1& 20,000
—&Iot stE3 16,000,000&*1= 16,000
—&IoF Rk 4,000,000&*1= 4,000
—&IOH QI ALSF 12,000,000 *1= 12,000
—Z5 MOt= 4,000,000&*1= 4,000
—Qotd S5t 24,000,000 *1& 24,000
—Qotd &gl 8,000,000&*1= 8,000
—oia B 16,000, 00081+1S 16,000
—otd Eet 8,000,000&*1= 8,000
—=w aE 12,000 00081+1S 12,000
—sg 12,000,000&*1= 12,000
—=3 NE 20,000,002+ 1 20,000
-8 &k 6,400,000& 1= 6,400
—4&d 23t 24,000,000&*1= 24,000
—&d LS 12,000,000 *1& 12,000
—aN A 24,000,000 *1& 24,000
—HR ASE 32,000,000&*1= 32,000
—H2 St 8,000,000&*1= 8,000
—H2 ME 8,000,000&*1= 8,000
—eiE 0lhl 16,000,000&*1S 16,000
—& 4D 24,000,000& *1&S 24,000
—&== LHE 24,000,000&*1= 24,000
—d== SH 16,000,000&* 1= 16,000
—&= ADIEDH 4,000,000 1= 4,000
—d= g2 8,000,000&*1= 8,000
—d= ME 4,000,000&*1= 4,000
—d AT 4,000,000&*1= 4,000
-0tz dg 4,000,000&*1S 4,000
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Sl MIFHOHE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—0rg 248 17,600,000 *1S 17,600
—0tg8 2= 8,000,000 1= 8,000
—FH o= 17,600,000& 1S 17,600
—57 4HA 6,400,000&*1S 6,400
—27 Ot 32,000,000 *1= 32,000
—57 dlel 12,000,000& *1S 12,000
-7 Hd 8,000,000 1= 8,000
—=d S 8,000,000 1= 8,000
-3 2 17,600,000& 1S 17,600
Olt23|2 B3 A ]
44,264,000 *14] 44,264
03 AIZSTHYI 3,160 2,814 346
Oobtsala 2 3,160,000 14| 3,160
402 2I2F X201 & 300,000 90,000 210,000
01 I SASE X (RHMITHR) 300,000 90,000 210,000
ontsaa M= 300,000
—2=(0rg &g, 87 AF)
150,000,000& x2S 300,000
28 A2 A 269,964 401,312 131,348
401 A& HIX R0 219,964 361,312 A141,348
01 AlZH| 218,519 369,022 140,503
23 2+ 200,800
—&IoH 5HE3 12,000,000& 1S 12,000
—&leh et 24,000,000&*1= 24,000
—&Iek oilel 24,000,000 *1= 24,000
—&IOH QALY 12,000,000& *1S 12,000
—&ek &Y 9,600,000& 15 9,600
—88 A2 20,000,000 *1& 20,000
—Otd et 17,600,000 *1S 17,600
—Sg == 4,000,000 1= 4,000
—H2 AR 12,000,000& *1S 12,000
—9ME ot0l 17,600,000& 1S 17,600
-8 222 20,000,000 *1= 20,000
—d= g4 8,000,000 1= 8,000
—0tg 2348 12,000,000& *1S 12,000
—827 2 8,000,000 1= 8,000
ORF 2+ &l 17,719,000 * 14! 17,719
03 Al 20HHI 1,445 2,290 A845
ord 2+ 1,445,000& x14] 1,445
402 QIF X201 & 50,000 40,000 10,000
01 QI X2 AL E A (KEHITH) 50,000 40,000 10,000
OZFul= 50,000




SM: QRSN
T FNHPNM
Sl MIFHOHE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| st =04 50,000,008+ 15 50,000
AR 9F #3IAY 12,000 3.260 £124,260
401 AAHIZ=CH| 12,000 3.260 £124,260
01 AlZH| 12,000 36,000 24,000
o472 23 &X 12,000
—FH U= 12,000,000 * 14! 12,000
OISOHHEXIE AT 100,000 104,200 74,200
401 AIEHIZL SO 100,000 104,200 A4,200
01 AlgH] 100,000 104,200 74,200
OIS OHHER B &
5,000,000 <2004 100,000
OISCI2 FJi BB A 656,000 656,000
401 AIAHIZ=CH| 656,000 656,000
01 AlZH| 637,856 637,856
O®SB 0180I2 FAHBR HUAY
637,856,000 * 11 £ 637,856
02 2/l 16,524 0 16,524
OHSE OISCHE FHBR N
1,080,000,000& *1.53% 16,524
03 Al 2 CHHI 1,620 0 1,620
O®2B 015012 FAHBR HEAY
1,080,000, 000L+0. 15% 1,620
ot ZZYUUFE ZH(Z NLELABUHSIIS) 1,310,000 1,310,000
401 AIZHIX S THE 1,310,000 1,310,000
01 A28l 1,175,250 1,175,250
ON48 AR2 BSFY 2AY(Z N2
ESIEY 1,175,250, 0008 14! 1,175,250
02 2l 180,000 0 10,000
O848 ARD BSFY AY(Z N2
ug2132) 130,000,000 14 130,000
03 Al 4,750 0 4,750
OH4B A9 ZSFE 2AY(Z UYL
ug213) 4,750,000,0002%0. 1% 4,750
FHSN 1,065,000 1,014,661 50,339
2 852,000
= 106,500
= 106,500
301 eEetE2 N = 543,322 501,552 41,770
= 434,658
= 54,332
o 54,332
01 Al EE A S (2 DEXR) 543,322 501,552 41,770
O x20]
161, 035%+ 1274 2+298.001} 7 543,322
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BE: =)BENM
Sl MIFHOHE EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 434,658
T 54,332
= 54,332
403 REXISHHIS K201 & 521,678 513,109 8,569
= 417,342
T 52,168
[ 52,168
02 SIS0 CHSt A2 A 2 EFAFHI 521,678 513,109 8,569
OxERN=0N 8,994, 4483 x580t 521,678
= 417,342
& 52,168
[ 52,168
HNASHE =8 HE=> 185,000 300,000 A115,000
= 92,500
= 92,500
307 QIZ2t0I A 185,000 300,000 A115,000
= 92,500
= 92,500
05 QIZtRAErZ 185,000 300,000 A115,000
OMASs 12l el2ag XA ((R) 3
oo & DHEI| KAL)
5,000,000 *370t = 185,000
= 92,500
= 92,500
SHE HOHQIFER AL 38,000 38,000 0
= 19,000
& 5,700
= 13,300
307 212+01™ 38,000 38,000 0
= 19,000
= 5,700
= 13,300
05 CIZtRIErZ 38,000 38,000 0
OZOHR! FEHIHN ALY
3,800,000 * 100t 38,000
= 19,000
= 5,700
= 13,300
8IE EH FH| 135,000 200,000 A65,000
& 40,500
[ A,500
402 Q12 X201 ™ 135,000 200,000 265,000
T 40,500
[ 4,500
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 QI X2 AL EE(OIETHE) 135,000 200,000 65,000
oely #1 &t 3,000,000 x456= 135,000
= 40,500
o 94,500
B A 125,000 154,500 A29,500
s 62,500
s 62,500
402 2I2FXH=201H 125,000 154,500 29,500
< 62,500
[Ea 62,500
02 QI TH2AILEE (01X THE) 125,000 150,000 /25,000
O3|YstRA BIETHAALY
25,000,000 *5= 125,000
= 62,500
= 62,500
sSENSKESAHEEAHEIE) 103,002 0 103,002
= 51,501
s 51,501
403 AXIEHHSAH=201H 103,002 0 103,002
= 51,501
[Ea 51,501
02 SI12S0ItH et =& 2 €A I 103,002 0 103,002
S NIELENEEINTIES)
103,002& *1,000= 103,002
= 51,501
= 51,501
SHeIY I 5,000 5,000
201 LBt2 ] 5,000 5,000
01 Al 22| 5,000 5,000
OSHYIA XA BXO0IH HIS
5,000,000& *12] 5,000
SOHE HIFHE 2IE A 75,000 100,000 225,000
< 37,500
s 37,500
402 QI”F X201 & 75,000 100,000 /25,000
= 37,500
= 37,500
02 QI A2 AL E R (0IETHR) 75,000 100,000 25,000
Os0E HIF=AHE I EHIAY
3.,000,000& *25& 75,000
=S 37,500
s 37,500
BIE&HX H=Xt OlAHl XI& 1,200 0 1,200
= 600
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01 QI X2 AL E A (KEMITHE) 72,650 83,285 10,635
OSS+5 XA 72,650
—JYOIS0tE 100,000, 000& *50% 50,000
—2 2 X0HIE 20,000,000 *100% 20,000
—g2AE0HUE 5,300,000 *50% 2,650
02 QIZEXHZ2 AL E X (01X THE) 5,000 0 5,000
O3S ZHI22X SAHAE SZHAX
AL 5,000,000 1= 5,000
= 1,500
[Ea 3,500
H3BALE(SSFH) AMEE 24 12,000 8,000 4,000
201 etz 3| 12,000 8,000 4,000
01 At 2|l 12,000 8,000 4,000
OMBBALS(SSFH) AHEH S (AH
L= =) 5,000,000& 22 10,000
OM3ZALS(SSFH) XFate| HEEAK
=32%, e =get) 1,000,000 *29H A 2,000
FHEA g2 5,016 6,576 21,560
201 eer23| 3,456 3,456 0
01 A2zt 3,456 3,45 0
OZNEX QLT SHI(EY)
8,0002 x4 +0ed« 123 3,456
202 04| 1,560 3,120 1,560
01 =LHO LI 1,560 3,120 21,560
OZNEX LLEEF (5
32,500 x4 x 122 1,560
HH2LZH(LRASAID) 236,708 259,945 N23,237
QIA2HH| (LIRS AR 196,214 212,125 /15,911
A2 A (2R S ALR) 196,214 212,125 15,911
101 ©1AH| 196,214 212,125 15,911
01 2= 185,768 194,778 29,010
OAlZtel 22+¢ 181,237
—6= 12,5313 +50AI 2+ 7= 123 52,631
-8 11,3192 50AI2H+ 118123 74,706
—8= 10, 1622 *50A| 26+ 123 36,564
—9= 9,620 *50A| 2Hx3E « 123 17,316
OX<IH&HI 181,237,000 2. 5% 4,531
03 SR (RINAHA) 222+ 10,446 17,347 26,901
OAIZtRl 22+¢ 10,001
-2 17,8563 x15A1 2H+2E+ 123 6,429
—18=23 19,8443 x15A1 2t 1+ 128 3,572
Ozdz2*e=+g 445
-7 142,845 2+ 1 286
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